BCM SCHOOL BASANT AVENUE
CLASS -XI
SUBJECT- INFORMATION PRACTICES

Q.1 What is None literal in Python?
Q.2 What is the error in following code: x, y =7 ?
Q.3 what will the following code do: a=b=18 ?
Short Answer Type Questions
Q.1 What is the difference between a keyword and an identifier?
Q.2 What are literals in Python? How many types of Literals allowed in Python?
Q.3 How many types of sequences are supported in Python?
Predict the output:
(a)
x = 40
y = x + 1       
x = 20, y + x    
print (x, y)

(b)
x, y = 20, 60
y, x, y = x, y - 10, x + 10
print (x, y)
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Solve the expression
 15.0 / 4 + (8 + 3.0)
From the following, find out which assignment statement will produce an error. State reason(s) too.
(a) x = 55
(b) y = 037
(c) z = 0o98
(d) 56thnumber = 3300
(e) length = 450.17
(f) !Taylor = 'Instant'
(g) this variable = 87.E02
(h) float = .17E - 03
(i) FLOAT = 0.17E - 03


